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Q1 Fully factorise 122y — 3z

Q2 Fully factorise 222 4 6zy

Q3 Fully factorise 822 — 12xy

Q4 Fully factorise 42?y? — zy*

factorise (5) answers Q1 3z(4wy —1); Q2 2x(z +3y); Q3 4z(2x — 3y); Q4 xy*(4o —1);

Q5 3zy(3z—2); Q6 xy(x—2y); QT2zy(2z+1); Q8 2mn(3n—2m)

Q1 Fully factorise 122%y — 3z

Q2 Fully factorise 222 + 6zy

Q3 Fully factorise 82% — 12zy

Q4 Fully factorise 4ay? — xy°
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Q5 Fully factorise 92y — 6xy Q6 Fully factorise 2%y — 221>
Q7 Fully factorise 22%y + 2xy Q8 Fully factorise 6mn? — 4m*n
Q5 Fully factorise 922y — 6xy Q6 Fully factorise 2%y — 2zy>
Q7 Fully factorise 222y + 2zy Q8 Fully factorise 6mn? — 4m*n
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